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10 20 30 40 50 0 80
TP hits

0.95
0

7/

60

[—=— DQM_V000I_RO00000001__Global_mKFITI0
—e— DQM_V0001~R000000001__Global | mkFIIlODO
—— DQM_V0001_R000000001__Global

[Efficienc] —— DM V0001 R000000001Global

RECO
C

_ "R

N __mKFit1000ATime__RECO
—— DQM_V0001_R000000001__Global__mkFit1000CTime__RECO

| | mKkFit1000MTime__RECO

00.05
2.045
?o 04
g) 035
£003
0.025
0.02
0.015,

—

0 5 10 15 20 25
TP layers

Efficiency vs pixel layer
0 0.05
kS E

0O 1 2 3 4 5 6 7 8
TP pixel layers

eff
o
o
=
T T T P T T

0 2 4 6 8 10 12 14 16 18 20
TP 3D layers




	Contents
	Page 1


